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Answer all questions.

Question 1: Rising prices in the medical sector

Table 1: World Price of Meltblown per 1000 kg (US$)

Jan Feb Mar

2020 |948 1058 | 1047

2021 1626 | 2276 | 2734

Source: Statista, January 2022

Extract 1: Rise in price of meltblown and masks

The COVID-19 pandemic has resulted in the elevation of masks as an increasingly important
form of medical protection. Projecting into the next year, the intensifying pandemic is likely to
compound the rise in price.

Yet, manufacturers are already struggling to supply the demand for masks. This is really '

about a global shortage of one particular plastic inside the masks — a type of non-woven
polypropylene that acts as a filter. People in the mask business call the plastic “meltblown”,
referring to how its plastic filaments are made. Meltblown goes into many things: jackets,
nappies, filters in water purifiers and air conditioners. Meltblown is in short supply not
because they're difficult to produce, but because the meltblown industry is used to stable,
long-term demand. With demand now soaring due to the heightened importance of masks,
some companies are already running at full capacity and require more equipment to
increase production, yet suppliers of meltblown equipment are quoting timelines of up to two
years to even deliver a new machine.

For some economists, higher prices are a sign of a properly functioning market. It is the
market's way of screaming: We need more masks! The normal economic view is that prices
should be left free to make supply and demand equal. At this moment, the Centers for
Disease Control and Prevention (CDC) only recommends masks for medical professionals,
and hospitals are running out. Those in the medical field are the ones willing to pay the most,
and higher prices might cut down on frivolous buying by the general public. Higher prices are
also a signal to manufacturers to make more masks. However, there are obviously
downsides to higher prices. Merchants are profiteering on fear, and higher prices mean only
the more affluent can afford masks. There is a genuine, legitimate fairess concem. “l have
always thought that economists were obsessed with efficiency, no matter what happened to
distribution,” said Angus Deaton, a Nobel-winning economist, “But distribution is what
matters, particularly in an emergency.”

Solving this requires steering the market in ways that classical economists tend to dislike.
One strategy is to cap prices so that they don’t become exorbitant but still offer the kind of
profits that draw new manufacturers in. However, setting a ceiling on mask prices may add
to the problem. If prices are kept artificially low, not enough masks are produced in the
market.
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Source: NPR, 3 March 2020 and The Guardian, 28 April 2020

Extract 2: Businesses pivot in face of the pandemic

As the pandemic spreads in the US, the shortages of masks could get even worse. So
manufacturers are retooling factories to soften huge blows to their usual lines of business.
Gap Inc., a major US clothing retailer, said this week that it would shift its factories to making
cloth masks. In Singapore, gaming company Razer announced plans to set up an automated
mask manufacturing line within 30 days 1o produce "a couple of million certified masks" each
month.

Brian Hahn, chief operating officer of electronics accessory producer Nomad, says they are
working closely with Nomad’s factories in China to shift production from accessories like
Apple AirPod cases to masks. That has included installing some new machines, but Hahn
says the transition has been a relatively easy one since they are essentially the same kind of
machines but with a few additional machine parts that can be easily sourced. That contrasts
with the complex and slow process of starting new production of ventilators, also in high
demand for treating critically ill COVID-19 patients.

Source: Fortune, 26 March 2020 and ChannelNewsAsia, 1 April 2020

Extract 3: Excessive pharmaceutical drug prices in the US

Excessive drug prices are the single biggest category of healthcare overspending in the US.
And unlike almost every other product, pharmaceutical drug prices continue to rapidly rise
over time. Health and Human Services estimates that over the next decade, pharmaceutical
drug prices will rise 6.3 percent each year, while other healthcare costs will rise 5.5 percent.
Basic economic principles suggest that pharmaceutical drug prices should be going down
because manufacturing volumes are increasing, and little new research and development
(R&D) is being conducted. Yet, a simple market research on existing pharmaceutical drug
prices proves otherwise.

To be more precise, after accounting for the costs of all R&D amounting to roughly $80
billion a year, pharmaceutical companies had $40 billion more from the top 20
pharmaceutical drugs alone, most of which went straight to profits instead of research. The
remaining money goes to sales and advertising. Amongst the few largest pharmaceutical
companies which command more than three quarters of the market for pharmaceutical
drugs, only one spends more on research than on marketing its products.

Pharmaceutical companies tend to say they are unique in needing to spend a higher
proportion of their capital on research than almost any other industry. But of all the
companies in the world, the one that invests the most in R&D is not a pharmaceutical
company. It's Amazon. The online retailer spends about $20 billion a year on R&D, despite
being renowned for both low prices and low profits.

However, the price of pharmaceutical drugs should not be determined by their research
costs. Instead, it is determined by their value in preventing and treating disease. Exorbitant
drug prices have two bad effects. First, high costs mean that lots of patients are unable to
take their medications. Second, the high pharmaceutical drug prices distort research
priorities, emphasizing financial gains and not health gains.
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Source: The Atlantic, 23 March 2019
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Extract 4: Strategies to make pharmaceutical drugs more affordable

Most Americans believe US prescription drug prices are too high — a conclusion reinforced
by almost 3 in 10 Americans reporting they go without prescribed medications because of
cost. Indisputably, Americans pay much higher prices for brand-name pharmaceutical drugs
than people in other industrialized nations. Despite viewing drug prices as too high, most
Americans feel that it is justified as they believe it will promote innovation of new
pharmaceutical drugs that can improve people’s lives.

Some pharmaceutical drugs from certain brands are insulated from competition by
government-granted monopolies based on patents, data exclusivity protections (that prevent
potential competitors from relying on an innovator’s data), or other requirements from the
Food and Drug Administration (FDA).

It is predicted that sharp price cuts would spark another wave of consolidation among
pharmaceutical companies, which may in turn motivate governments to take action against
anti-competitive mergers such as enforcing anti-trust laws or implementing lump sum taxes
on pharmaceutical companies.

More broadly, a roundtable of experts from pharmaceutical and biotech executives to
economists observed that pharmaceutical companies are highly responsive to incentives,
such as those that currently exist pharmaceutical drugs for autoimmune disorders. They
urged policymakers to think carefully about designing strategies to lower pharmaceutical
drug prices.

Source: Adapted from HealthAffairs, 24 Nov 2020

Questions

(a) Explain two possible reasons that could account for the difference in the trend of
meltblown prices between January and March 2020 with that between January and
March 2021.

[4]

(b) Extract 1 suggests that higher mask prices means only the affluent can afford masks.
This has led to concerns about equity.

Explain whether a cap on the prices of masks can address the above concern.

[5]

(c) With reference to Extracts 1 and 2, explain why it is a rational decision for Nomad to
produce masks.

[3]

(d) Discuss which market structure best describes the characteristics of the
pharmaceutical drugs market in the Us.

(8]

(e) Discuss whether the US government’s plan to enforce anti-trust laws is likely to be
better than implementing lump sum taxes in improving outcomes for consumers in
both the pharmaceutical drugs market and the market for masks.
[10]

[Total: 30]
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Question 2: Impacts of the COVID-19 pandemic

Extract 5: Global economic outlook

The COVID-19 pandemic has sent the global economy into one of its worst recessions ever,
forcing many countries into months of lockdown in 2020 that markedly reduced economic
activity. It is not yet clear when a full recovery will be in place.

One main feature of coronavirus lockdowns around the world is the complete or partial
closure of borders, which brought much of international travel to a halt. Another feature is
that governments have increased spending to protect jobs and support workers. Such
staggering levels of spending have pushed global public debt to an all-time high. However,
governments should not withdraw fiscal support too soon as many workers remain
unemployed and small businesses continue to struggle.

Source: CNBC, 27 December 2020

Figure 1: Singapore government’s budget balance in relation to GDP
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Extract 6: Will COVID-19 kill globalization?

The COVID-19 pandemic has upset the global supply chain that links factories across
borders, enabling plants that produce finished products to draw components and raw
materials from around the world. Previously, decades of increased outsourcing meant that
medical devices, personal protective equipment and medications are largely produced
overseas. However, since the start of the crisis, investors have begun pulling money out of
developing economies, in what the International Monetary Fund (IMF) described as the
largest ever outflow of capital from the developing world. As surgical masks become
desperately desired items amidst a move by Western countries to bring critical
manufacturing of medical supplies back home, and as airlines scrap flights, the pandemic
seems likely to alter the contours of globalization.

In light of the pandemic, fears about open borders are also reinforced. In North America and
Europe, there is a recalibration, a want to engage on a more selective basis given that the
coronavirus was first detected in and seeped out of China.

Furthermore, the epidemic has prompted a re-examination of the world's central reliance on
China as ground zero for manufacturing, a trend that was already underway via the trade
war. According to President Trump, any product made in a foreign country and then sold in
the United States (US) amounts to an instance of US workers getting fleeced. The Trump
administration has thus imposed tariffs on hundreds of billions of dollars’ worth of goods from
China, promising that this would force companies, from clothing brands to gadget makers, to
bring production back to the US. Yet, this has failed to produce the promised jobs, yielding a
manufacturing slowdown in the US instead. Rather, some multinational companies have
moved factory production away from China, shifting work to Vietnam, Bangladesh and
Mexico.

While global supply chains will change in a post-crisis economy, much of that change will be
in the form of diversification, rather than on-shoring. Moving forward, businesses are likely to
spread out their supply chains and seek alternative suppliers in order to reduce the risk of a
localized crisis creating a severe disruption. Moreover, with businesses’ primary incentive
being to maximize profits, producing components abroad will be a much cheaper substitute.
This could mean that production jobs will be spread more evenly around the world, allowing
more countries to participate in an eventual recovery.

Ultimately, globalization is far from over. Where travel and trade are inevitable, the answer is
not to build walls but to encourage cooperation and clear information.

Source: New York Times, 5 March 2020

Extract 7: Singapore has been strengthening its food security for decades

In light of the COVID-19 outbreak, images of empty supermarket shelves have turned the
spotlight on the island’s food security. If the pandemic rages on globally, the rising number of
quarantines and nationwide lockdowns could diminish agricultural labour and threaten global
food production. This could put unprecedented pressure on Singapore’s food security.

“The main challenge, which is unavoidable given the size of the city-state, is dependence on
foreign produce to a very high percentage,” said Dr Tortajada, senior research fellow at the
Lee Kuan Yew School of Public Policy’s Institute of Water Policy. “Singapore has to be
self-reliant, which means using explicit policies to safeguard its foreign supplies of food while
having some domestic production capability of its own,” added Prof Paul Teng, an adjunct
senior fellow in the S. Rajaratnam School of International Studies.
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Today, Singapore’s food imports come from over 170 countries and regions around the
world, up from 160 in 2007. This diversification of food sources did not occur overnight and
is a culmination of years of sourcing trips and prudent procurement decisions to ensure that
the nation will not starve. However, if the COVID-19 pandemic continues to escalate and the
surplus food capacity of the world nosedives, the rise of global food insecurity could put
Singapore’s food imports at risk.

Another way for Singapore to ensure its food security is to ramp up its local food production.
Currently, less than 10% of Singapore’s food is locally grown. In March last year,
Environment and Water Resources Minister Masagos Zulkifli said that we are working
towards ‘30 by 30, to build up our agri-food industry’s capability and capacity to produce
30% of our nutritional needs locally and sustainably by 2030. Advances in food technology
raise the possibility of manufacturing novel foods, such as food substitutes and alternative
proteins like Impossible Meats. These innovations could pave the way to more productive
methods of producing food. Building a soy-based meat patty takes a fraction of the time,
manpower, land and raw material costs of rearing an animal. There is a rising trend in
alternative lab-grown food production and high-tech, high-intensity farming around the world
as well, such as indoor hydroponic vertical farms, indoor fish farms and recirculating
aquaculture systems. A viable local agriculture industry in land-scarce Singapore is therefore
feasible.

However, the price of locally grown food will always be higher than imported food due to the
costs of land, manpower and raw materials here. As such, getting Singapore consumers to
change their dietary preferences or to pay for higher priced foods is a tricky affair.

Source: ChannelNewsAsia, 23 Mar 2020
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Questions

(a) (i) Compare the change in Singapore government’s budget balance with that of the
us between 2017 and 2020.

[2]

(ii) Extract 5 suggests that the COVID-19 pandemic has sent many economies into
a recession.

Explain how this will affect public sector debt in these economies. [2]

(b) Explain two factors that will determine the impact on China’s balance of trade if the
us raises tariffs on imports from China.

[4]
(c) Extract 6 states that China has been the world’s ‘ground zero for manufacturing’.

Explain one benefit and one cost on China’s employment level from participating in
the global supply chain.
[4]

(d) Discuss whether you agree with the view that the COVID-19 pandemic has killed
globalisation.

[8]

(e) Extract 7 states that to be self-reliant, Singapore needs to safeguard its foreign
supplies of food while having some domestic production capability of its own.

Explain how such measures can impact the Singapore economy and consider how
likely they are to be successful in helping Singapore achieve self-reliance.
[10]

[Total: 30]
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2

Section A

One or two of your three chosen questions must be from this section.

1 Different models of smartphones can vary considerably in price from as low as S$140
for a XiaoMi to as high as S$1650 for an iPhone. In 2020, a global microchip crunch,
partly due to supply shocks fuelled by the Covid pandemic, and a sharp drop in incomes
amidst a surge in unemployment are likely to affect the sales of various models of
smartphones.

(a) Using two appropriate elasticities of demand, explain the effect of each of these
changes on the sales volume of different models of smartphones.
[10]

(b) Discuss the view that expenditure by consumers on different models of
smartphones are more likely to fall given the combined effects of the above
changes. [15]

2 In Budget 2020, more grants will be given to low-income students, and this increase
applies for students from primary to tertiary education, with the largest increase in
grants given to university education.

(a) Explain why the provision of education, if left to market forces, might be allocated
inefficiently.
[10]

(b) Discuss whether the increase in grants is justifiable.
[15]

3 Even as many businesses were battered by the pandemic, the low-frills homegrown
supermarket chain Sheng Siong did brisk business. It is aiming to open three to five
stores annually in the next three to five years.

(a) Explain why a profit-maximising firm’'s decision to expand its production or shut
down depends on its costs and revenue.
[10]

(b) Discuss whether opening more stores is the best strategy for Sheng Siong to
increase its profits.
[15]
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Section B

One or two of your three chosen questions must be from this section.

4 (a) Explain how a high rate of inflation and a deficit on the current account of the
balance of payments can lead to serious problems for an economy.
[10]

(b) Discuss whether a reduction in expenditures is likely to be the best policy measure
in reducing a deficit on the current account of the balance of payments of an
economy.

[15]

5 ‘Inflation is not the only challenge facing Singapore. Structural changes exist
domestically and worldwide. These include an ageing population, increased geopolitical
risks and climate change. Hence, we must accelerate economic reforms to raise
productivity.”

Mr Lawrence Wong, Deputy Prime Minister

(a) Explain the likely economic consequences of these structural changes for
Singapore’s economy.
(10]

(b) Discuss the policy measures that the Singapore government should take to
address the economic consequences of these structural changes on the economy.
[15]

6 The US’s persistent trade deficit with China has led to an ongoing trade war between
the two countries. The US government has imposed tariffs on Chinese imports such as
hard disks and steel products amidst concerns over China’s extensive use of export
subsidies. In turn, China has imposed retaliatory tariffs on US imports such as
agricultural products and liquor.

(@) Explain how the use of such protectionist policies might affect trade.

[10]
(b) Discuss whether the use of protectionist policies is preferred over a policy of
greater free trade.
[15]
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from the other companies, as they seek to invent the drug that could be unique and specific
for a particular type of illness. A lot of advertising costs is incurred too as they attempt to do
extensive product promotion. The aim is to keep the price elasticity of demand iow,
distinguishes itself from the close substitutes, and allowing the firm to raise prices to
increase revenue. These actions of extensive product differentiation executed by the
pharmaceutical drugs companies are evidence that they are in an oligopolistic market
structure.

E q |

in addition, there will be a high level of barriers to entry if it is an oligopolistic market
structure. This seems to be the case of the pharm drugs market. The high costs and long
time involved in the research and the expertise required to invent and market the
pharmaceutical drug make it difficult for other firms to enter the market. Subsequently the
patents that are applied by existing firms are also evidence of a legal high barrier to entry as
other new entrants to the pharmaceutical drugs market will not be able to replicate the
production of similar drugs, allowing existing firms high market power. As a result, the
existing pharm drug firms are highly likely to be able to retain their supernormal profits even
in the long run, which is also evident by the high and relatively constant prices, as the strong
BTE influenced the pricing and output decision.

OR

However, a pharmaceutical drugs company could be behaving like a monopoly if it is able to
invent the unique cure to a specific illness and they might patent the drug to ensure they are
the sole provider. In this case, no other firms can replicate the production of the drug at all
for a period of time, making the firm with the patent the sole producer.

Answers in this level will understand the differences between the market L2 (4-6)
structures. There should be a clear application of 3 factors that distinguish market
structures to the market of pharm drug in USA.

An understanding of the implications of the characteristics that explain the real
world pricing and output behaviour of the pharm drug companies will be
essential.

Answers in this level will show limited understanding and application of how the | L1 (1-3)
factors that distinguish market structures can be applied accurately to the market
of pharm drugs in USA.

Or

Answers show understanding and application of 1 factor of characteristic to
support the type of market structure that the market of pharm drug is likely to be
in.

market structures. A conclusion must be provided.

Evaluation marks will be awarded for a well-supported judgment on the type of Evaluation
market structure the market of pharm drug is in with comparison with other likely | (1-2)

(e) Discuss whether the US government's pian to enforce anti-trust laws is likely to be
better than implementing lump sum taxes in improving outcomes for consumers in
both the pharmaceutical drugs market and the market for masks. [10]

Currently, prices for both pharmaceutical drugs (extract 3) and masks (extract 1) are rising,
which reduces consumer surplus. The US government plans to implement anti-trust laws
and lump-sum taxes to reduce prices for pharmaceutical drugs, thereby increasing quantity,
and possibly increasing variety of products for consumers. Thus, consumer outcomes will be

© RVHS 2022 9757/01

improved. However, there may be limitations, as well as drawbacks in terms of equity and
efficiency.

- Anti-trust laws make it illegal for firms to join forces to fix prices, divide the market or
rig bids. If found guilty, firms may end up paying penalties in the form of fines.

While imposing fines may not directly change the price charged and output produced,
they act as a form of deterrence against anti-competitive behaviour in markets.

- Hence, anti-trust laws work to promote competition & reduce degree of market
dominance, such as preventing mergers between major pharmaceutical drug
companies (extract 4). By promoting competition, demand for each firm’'s products
falis and becomes more price elastic with the increase in number of substitutes sold
by competitors. This lowers the degree of market power such that P exceeds MC by
a smaller extent. Consequently, there will be lower prices and higher quantity of
goods in the market. Also, the presence of more firms translate to a variety of brands
that offer consumers more choices.

nti-trust laws hav limitation:

- However, lower degree of market power due to anti-trust laws may result in lower
supernormal profits for pharmaceutical drug companies, which may result in less
funds available for both product and process innovation (extract 4). Thus, this will
impede not only improvement in consumer choice but also potential decreases in
prices in the long run.

Lump sum tax:

Alternatively, lump sum tax (extract 4) can be implemented, to reduce excessive profits of
companies producing pharmaceutical drugs or masks.

Specifically, a lump sum tax is fixed in amount and levied without regard to the output or
revenue of the firm. it is regarded as a fixed cost to the firm and hence, it will increase
average cost from ACO to AC1 (figure 2). Thus, it will have no effect on MR or MC, and
hence, price & output remains unchanged. This suggests consumers do not have to bear the
burden of the tax. The lump sum tax merely transfers the supemormal profit from the firm to
the government.

The tax revenue collected by the government can subsequently be redistributed to the
population in terms of grants to consumers / direct subsidies to consumers for the
consumption of pharmaceutical drugs and masks. Through this, consumers will effectively
pay less out-of-pocket. Therefore, consumer surplus will likely increase.

However, it is often difficult to estimate the appropriate amount of lump sum tax. Each
market may require a different amount of lump sum tax, which requires in-depth market
analysis by the government to determine. Therefore, due to imperfect information, there may
be a possibility that the lump sum tax imposed is too litle an amount. Then, the government
may not be able to collect sufficient funds to disburse grants to consumers for consumption
of pharmaceutical drugs and masks. Hence, consumer surplus may not increase.

OR

However, the increase in consumer surplus is conditional on the govemment'’s redistribution
of tax revenue to population. If the government decides to use the tax revenue for other
purposes such as paying off government debt, then there may not be an increase in
consumer surplus in both markets.

OR

© RVHS 2022 9757/01
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Either

e Conversely, the extemal disruption brought about by the pandemic could lead to
reduced economic activity as economies contract and export demand fafls which
leads to a fall in AD [1]

s And thus, leads to a multiplied decrease in NY via the multiplier effect. The
decrease in production levels lead to a decrease in derived demand for factor
inputs like labour, which could lead to a rise in cyclical unemployment in China
especially in the export-oriented sectors. [1]

e In addition, the decision to reduce reliance on China to diversify global supply
chains has resulted in countries shifting production out of China to other low-cost
production sites like Mexico. [1]

e This would hasten changes in China's comparative advantage and in tum
hastening the skills obsolescence of current workers. This in tum translates to a
rise in structural unemployment. [1]

d) Discuss whether you agree with the view that the COVID-19 pandemic has killed
globalisation. [8]

Intro

Globalisation is defined as the closer economic integration of economies through increased
flow of goods and services, capital as well as labor. To determine whether the COVID-19
pandemic has killed globalisation, we must first ascertain whether the pandemic has resuited
in increased or decreased flow of the aforementioned factors.

e The global recession arising from the pandemic has resulted in a bleak economic
outlook and thus, fall in investors’ confidence. As firms expect a fall in their internal
rate of returns, they will reduce investment as evidenced in Extract 6 where
“investors began to pull money out of developing economies”. This huge capital
outflow from these developing countries back to the source countries suggest that a
reduced flow of capital between these economies.

o Extract 6 also mentions that Westem countries are bringing “critical manufacturing of
medical supplies back home”, suggesting an even larger outflow of capital from other
countries back to the Western countries. As the Westem countries reduce the
offshoring and outsourcing of production of medical supplies to other countries, they
are now able to produce these domestically, thus reducing the flow of goods and
services between them and the rest of the world.

e In addition, Extract 5 mentions the “complete or partial closure of borders which
brought much of international travel to a halt’, which reduced the ease of entering
another country. Extract 6 also mentions that “airlines scrap flights” which has largely
reduced the amount of travel. Together, these led to a reduced flow of labor between
countries.

has not killed isati

e On the other hand, while COVID-19’s disruption of the global supply chain has
prompted many countries to move their production out of China, this does not
necessarily mean a reduced flow of capital between economies. As mentioned in

© RVHS 2022 9757/01

Extract 6, production merely shifted “away from China” to other low-cost countries
such as Vietnam, Bangladesh and Mexico, rather than back to the shores of the
source countries. This is because rational producers would still want to maximise
their profits and one way to achieve it is through minimising their cost. Firms would
want to offshore their production to take advantage of the low labor cost and
abundance of low-skilled labor workers in other countries as evidenced in Extract 6
where “producing components abroad will be a much cheaper altemative”. Therefore,
there will still be capital inflow into countries with comparative advantage in
labor-intensive goods as MNCs will still continue to offshore and outsource their
production.

More importantly, countries are also rethinking their reliance on just one country as
their offshore destination. Thus, there will be greater flows of capital into not just one,
but many economies as countries seek to diversify their supply chains to reduce the
risk of a localized disruption.

Level

Knowledge, Application, Understanding & Analysis Marks

L2

Well-developed discussion on whether the COVID-19 pandemic has | 4-6
killed globalisation. Reference made to evidence from extract that
support the arguments made.

L1

Under-developed discussion on whether the COVID-19 pandemic | 1-3
has killed globalisation. Some reference made to evidence from
extract that support the arguments made.

OR
Well-developed explanation on either the COVID-19 pandemic has

or has not killed globalisation. Some reference made to evidence
from extract that support the arguments made.

Evaluation

E2

Well-reasoned judgement on whether the COVID-19 pandemic has | 2
killed globalisation.

E1

Unsupported judgement on whether the COVID-19 pandemic has | 1
killed globalisation.

© RVHS 2022 9757/01
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LORMS
Levels | Knowledge, Application/Understanding and

Analysis
L3 For an answer that uses both price and income elasticities of demand to explain

(8-10) | the likely effects on sales volume of various models of smartphones.
Well-developed explanations with use of exampies relating to the context.

L2 For an answer that uses both price and income elasticities of demand but gives an
(5-7) underdeveloped explanation of the likely effects on sales volume of various
models of smartphones.

OR

For an answer that only explains either PED or YED well (i.e. only analyses the
impact of either the fall in incomes or rise in price owing to supply chain
disruptions).

Insufficient breadth and scope in essay.

L1 For an answer that may show little knowledge on PED and YED.
(1-4) Economic analysis might be lacking.

(b) Discuss the view that consumer expenditure on different models of smartphones is
more likely to fall given the combined effects of the above changes. [15]

Introduction

Consumer expenditure (CE) refers to total amount of spending on smartphones by consumers.
It is calculated as the price of the smartphone (P) multiplied by the quantity bought (Q) at that
given price.

Given the combination of a fall in supply of smartphones due to higher costs of microchips and
fall in consumer incomes, the impact on consumer expenditure depends on PED value and YED
value respectively.

Body
Thesis: CE will fall

Given that YED > 0, where smartphones are considered normal goods, the fall in incomes
amidst rising unemployment would result in a fall in demand. This leads to a fall in price and
quantity and thus a fall in CE, as may be seen in Fig 2 (part a).

if consumers perceive there to be wide availability of close substitutes for a given smartphone,
for example, should the user be able to switch easily to other brands with easily replicable
features, then PED is likely > 1.

As price of smartphones increases in light of the rise in manufacturing costs due to the possibie
rise in procurement costs of microchips hit by supply chain disruptions, quantity demanded for
smartphones will thus fali more than proportionately, resulting in a fali in CE, as may be seen in
Fig 1 (part a).

The above combined effect is thus a definite fall in CE from area OPOAQO to area OP1BQ1, as
may be seen from Figure 3.

Price

A

Si

DO
Figure 3

——

Q
=
8

However, certain models of smartphones may be considered inferior goods due to their
perceived fower performance standards relative to other models. Thus, YED is likely < 0. Given
the fall in incomes, demand for such goods could increase given their relative affordability. This
in turn leads to a rise in price and quantity and thus a rise in CE, as may be seen in Fig 2 (part
a).

Given their lower price points, it is likely that these smartphone models comprise a relatively
smaller proportion of individuals’ incomes, then PED is likely < 1. Arise in price of smartphones
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First of all, positive externalities are beneficial side effects of production or consumption on
persons other than the producers and consumers themseives, i.e. the third parties. These third
parties do not make payment to enjoy the external benefits. In the context of education,
consumers only take into account their own private benefit, such as the higher incomes that
they can possibly earn in future. However, there are positive spillover effects to third parties
such as people working around the more educated person. A more educated person is able to
guide his/her co-workers which increases the co-workers’ productivity and thus, wage rate.

With reference to Figure 1, Marginal Social Benefit (MSB, which is the additional gains in
welfare by the whole society from consuming or producing one more unit of education) is
greater than the Marginal Private Benefit (MPB, which is the additional benefit that consumers
gain from consuming one more unit of education) as private individuals do not take into
consideration the Marginal External Benefit (MEB, additional benefit experienced by third parties
from the consumption of one more unit of education) from the consumption of education.
Assuming there are no negative externalities, marginal social cost (MSC) is equal to the
marginal private cost (MPC). MPC refers to the increase in cost of providing education to an
additional consumer/student. These costs include the cost of engaging teachers, teaching
materials, providing amenities, etc.

The socially optimal level of output is at Q,, where MSB intersects with MSC as shown in Figure
1 and this is the output that maximises societal welfare. However, since individuals and
producers only consider their own private benefits and costs and disregard the benefit to
external parties, market ievel of output is at Q,, where MPB intersects MPC. As Q,, is less than
Q,, there is under-consumption of education. This under-consumption leads to a deadweight
loss incurred by society, shown by area AEE,.

Price, Benefit, Cost

MSC = MPC

MSE = MPH » MEB

MPB

Y

CQuantity of education

Besides positive externalities, consumers might also under-consume education because of
imperfect information. Individuals may not be able to accurately value the private benefits of
consuming education, especially when individuals do not realise the long-term benefits of
receiving education like future job opportunites and income levels. As such, they may
underestimate the private benefits. MPB is the additional benefit that individuals gain from

consuming one more unit of education while MPC refers to additional cost that individuals incur
from consuming one more unit of education.

Price, Benefit, Cost
A

Pg,

——l

I
1
t
“ g?w_%.n?i

Cpiguib2: Imperfect information

o »  Quaniily of education

Referring to Figure 2, the underestimation of private benefits causes consumers’ misperceived
MPB to be lower than the actual MPB. The market output is Q,, given by the intersection of
MPBspercaives @nd MPC, whereas the socially optimal leve! of output is Qs, where MSB=MSC.
Since Q,, < Qs, there is under-consumption of education due to imperfect information. The
deadweight loss due to under-consumption is shown by area ABC i.e. market failure results.

The above are the main reasons why the provision of education, if left to market forces, might
be allocated inefficiently.

Level Knowledge lication, Understanding & Analysis Marks
L3 | For a well-developed answer that shows thorough knowledge and application | 8-10
as to why the provision of education might be allocated inefficiently, if left to

market forces.

Any two of the three reasons (well-explained with diagrams) for market
failure to get full range of L3 marks.

L2 | For an undeveloped answer that shows knowledge and application as towhy | 5-7
the provision of education might be allocated inefficiently, if left to market
forces.

Undeveloped: Only one reason well-explained OR two reasons briefly
explained for why free market fails in the provision of education AND lacking
in tools of analysis (no diagrams and examples).

L1 | For an answer that shows some knowledge as to why the provision of | 1-4
education might be allocated inefficiently, if left to market forces.

b) Discuss whether the increase in grants is justifiable. [15]
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E3 | Well-reasoned judgement on whether the increase in grants for education 4-5
is justifiable and whether it is justifiable to give the largest increase to
university education.

E2 | Under-developed judgement on whether the increase in grants for 2-3
education is justifiable and whether it is justifiable to give the largest
increase to university education.

E1 Unsupported judgement on whether the increase in grants for education is 1
justifiable.

3. Even as many businesses were battered by the pandemic, the low-frills homegrown
supermarket chain Sheng Siong did brisk business. It is aiming to open three to five
stores annually in the next three to five years.

(a) Explain why a profit-maximising firm’s decision to expand its production or shut
down depends on its costs and revenue. [10]

(b) Discuss whether opening more stores is the best strategy for Sheng Siong to
increase its profits. [15]

Introduction

During a recession, national income is falling and consumers’ income is falling. As such,
demand for normal goods and services would fall, thus affecting the revenue firms would be
earning. As such, a firm may to consider whether to shut down or to continue production if it
is making subnormal profits.

Body: A firm's decision to shut down or continue production depends on its costs
and revenue

To minimise losses, a firm would weigh its average costs against its average revenue to
decide whether to continue production or shut down in the short run. In the short run, the AC
comprises the average variable cost (AVC) and average fixed cost (AFC). The AFC is the

average cost of the fixed factor which does not vary with the level of output and it is incurred
even when production ceases.

As explained above, the pandemic has resulted in a fall in demand for restaurant meals.
Assuming that the firm is operating at its profit maximizing level of output where MR=MC,
the fall in demand could resuit in a restaurant making subnormal profits where AR<AC.
Whether the firm decides to shut down or to continue production depends on if the AR is
able to cover its AVC.

If AR>AVC at the profit maximizing level of output, the firm will still continue production,
despite earning subnormal profit. This is because if the firm continues operation, it can cover
all of its variable cost and even some of its fixed cost. However, if it shuts down, the firm will
still have to incur fixed cost. Hence, the firm should continue operation as the loss incurred
is smaller compared to if it shuts down.

However, in the event if the AR<AVC at the profit maximizing level of output, the firm will
shut down in the short run. This is because the AR is unable to cover even the cost of using
the variable factors and this implies that the firm incurs losses from the use of its variable
factors in addition to the use of its fixed factors. The firm is better off shutting down since it
will incur a smaller loss of only its AFC.

In the long run, the firm must at least make normat profit, i.e. AR=AC, to remain in the
industry. If the demand fails to recover and the firm continues to make subnormal profits,
then it will have to exit the industry as it is better off redeploying its resources to other
industries where it might be able to at least earn a normal profit.

Body: A firm’s decision to expand production depends on its marginal costs and
revenue

On the other hand, a firm may expand production as long as its marginal revenue exceeds
marginal costs.

Knowledge, Application / Understanding and Analysis

L3 | For an answer that uses analysis to explain how a firm uses 8-10
averagef/total costs and revenue concepts to determine whether to shut
down or continue production in the SR vs LR, and how the firm uses
marginal cost and revenue concepts to explain its decision to expand
production.

Note: diagrammatic analysis is not required to score L3

L2 | Undeveloped explanation of how the firm uses costs and revenue 5-7
concepts to explain its decision to shut down AND expand production
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L3

For a well-developed explanation on how opening more stores (growth)
increases Sheng Shiong's profits, limitation of growth strategy AND an
alternative strategy to increase profits.

Answer is applied well to context of Sheng Siong.

L2

8-10

For a well-developed explanation on how opening more stores increases
profits and an alternative strategy to increase profits OR limitation of
opening more stores

OR
For an under-developed explanation on how opening more stores

increases profits, limitation of lowering prices AND an alternative
strategy to increase profits

5-7

L1

For an under-developed and descriptive explanation on how opening
more stores increases profits.

o Smattering of points

e Descriptive answer lacking in economic analysis on the strategies
used by Sheng Siong to increase profits

e Significant lapses in explanation / analysis

E3

For answer that arrives at an analytically well-reasoned judgment on
whether opening more stores is the best strategy to increase its profits,
based on 2 criteria.

E2

For answer that arrives at an analytically well-reasoned judgment on
whether opening more stores is the best strategy to increase its profits,
based on 1 criteria only.

E1

For an answer that gives an unsupported statement on whether opening
more stores is the best strategy to increase its profits.

4.

N igh f inflation:
A high rate of inflation refers to a sustained, excessive and general increase in the prices of
goods and services.

As prices increase, this reduces the purchasing power of money as each dollar can now buy
fewer goods and services compared to before. This can cause problems for fixed income
eamers such as salaried workers and pensioners as they suffer a fall in their real incomei.e. the
quantity of goods and services it can buy and hence worsen their material standard of living.

A high rate of inflation can also bring about greater uncertainties in business transactions.
Rising prices makes future costs, prices of products and the rates of return on investments less
predictable. As a result, investors’ confidence are eroded and firms would be reluctant to take
undertake risks to increase investment (both domestic investment and foreign direct
investment). The decrease in fixed capital investment can cause AD to fall, and firms will
decrease output and hire less fewer factors of productions such as labour, leading to higher
unemployment. Besides the fall in NY, the fall in investment can also have detrimental impact on
the productive capacity of the economy in the long run, leading to a slower rate of economic
growth.

Q of a deficit o g current account o u..‘.‘-unﬂ..‘;-u-

A deficit on the current account of the balance of payments very likely occurs when the receipts
from the exports is lesser than the payments for imports of goods and services, i.e. a deficit on
the balance of trade account which is an important component of the current account.

Since the amount of imports is higher than that of exports when an economy runs a deficit on its
balance of trade, this leads to greater outflows of currency. There is an increase in the supply of
the domestic currency in the forex market as consumers sell the domestic currency for other
currencies in order to pay for imports. This leads to a depreciation of the country’s currency
which can cause serious problems such as imported inflation since imports are more expensive
in domestic currency. This is especially detrimental for import-reliant economies as price
instability can lead to negative consequences on material standard of linving explained above
as well as a loss of cost- competitiveness since exports have high import-content.

(a) Explain how a high rate of inflation and a deficit on the current account of the balance
of payments can lead to serious problems for an economy. [10]}

{b) Discuss whether a reduction in expenditures is likely to be the best policy measure in
reducing a deficit on the current account of the balance of payments of an economy. [15]

Introduction;

A low rate of inflation and a favourable balance of payments are two of four key macroeconomic
objectives which are important for any economy to achieve. Failure to do so could lead to
serious problems and negative consequences on the economy, in particular its national income
(NY), employment and standard of living.

LORMS

Level Description Marks

L3 Well-developed explanation of at least 2 negative consequences of a | 8-10
high rate of inflation and a deficit on the current account of the balance
of payments of an economy.

L2 An undeveloped explanation of at least 2 negative consequences ofa | 5-7
high rate of inflation and a deficit on the current account of the balance
of payments of an economy.

L1 Descriptive explanation of some negative consequences of a high rate | 1-4
of inflation or a deficit on the current account of the balance of
payments of an economy.

More papers available at www.testpapersfree.com



BP-515

[oL] ‘Awouode s eiodebuig
i0} sobBueys |einjonuys asay} jJo seduanbasuod dqwouods Ay ey) uejdx3 (e)

Js)siuy swg Aindeq ‘Buopp asuaime Iy

«Aiaonposd

8S[E1 0} SULIOJOI JIIOUO0ID 9)RI9|2IJE JSNL M ‘adusH “abueyd ajew)d pue sysu
reapjodoah paseassu) ‘uopeindod Buiabe ue apnjoul 8s8Yy ] "IPIMPLIOM pue Ajjesjjsawiop
3sixa sebueys [einjorulg -siodebuig Bujoe) abuajjeys Ajuo ay) Jjou si uopeyuy, s

"AlIouoos ue
10 sjuswied jo 8duUBjEq Y} JO JUNOITE JUSLUND S} UO Jiolep e aonpe:
0) Buidiay uj saoljod Buiyoyms-ainyipuadxe pue Sulonpas-einyipuadxe
L jJo sseusjeudoidde eAje@s  Jnoge  juswelels  peuoddnsun 13

"AWOUO3s UE
J0 sjuswAed J0 9oUBRq BY) JO JUNCIDE JUDLIND BY) UO JIOUYep B sonpal
o) Buidjey u saioljod Bunjoyms-ainyipuadxe pue Bulonpal-einypuedxe
[ A jo sseusjeudosdde aanejas jnoge Juswebpnl e je jdweje ewog Z23

"AWIoU033 UE JO
sjuswAed jo aouejeq 8y} JO JUNOJJE JUBLIND 8Y) UO JIDyep B aonpel o)
Buidiay w) seplod Bujyoyms-ainipuadxe pue Bupnpal-ein)puedxa jo
[ ssauajeudosdde sajejes Jnoge Juswebpn| peuoseas-jjem Ajeonijeuy €3

"AWIOUGOS UE O SjustuAed Jo 9OUE[Eq oY) JO JUNOJJE JUSLIND
8y} uo Joyep e aonpas o} digy ued seplod Buyoyums-einypuadxe
1 10 bBupnpasrainypuadxe moy jo  uoneuedxs  aapduoseq ]

AWOUG03 UE JO SJUBLWAE] JO SoUE[eq oY) JO JUNCIJE JUelno
8y} uo Joysp e 9onpas o} digy uea seiod Buiopms-anypusdxs
/-6 | pue Bupnpes-einypuadxe moy Jo  uoissnosip pedojeaepun Uy 21

‘Awouooa ue jo sjuswied jo aouejeq ey) Jo JUNOIJE JUBLIND
8y} uo joyep e asonpas o} disy ued sapiod Buyoyms-aimpusdxs
01-8 | pue Bupnpal-ainypuadxe Moy o uoISSNOSIp  padojeAsp-ijom €1

SHEN uopdusseq 9Aa

SWMOT

‘Awouoos 8y} Jo ajels
BY) pue apeJ) JO BoURIEQ BL} UO JIDIAP U} JO BSNED J00J Y} SB YONS SJ0JOB) jBJOABS U0 spuadap
ainseaw fojod isaq sy} aq o) A st sapiod Buonpai-ainypuadxa J0 9sn Y} JSUYISUM

TOBNPUoY

‘e Jeye ybnouypieaiq [eaibojouyda) Jueoyubis o) pes)| Jou Aews SHOYS Q9N pue
‘siaxiom JO sprme pue spninde se yons siojoe) Auew uo spusdap Bujuies Jo ssausARoeYd auy)
se pesjue.ienb Jou ese s}jnsas papuejul ey ‘uonippe u| ‘papuadxs usag sey Buipun) Juswuwiaaoh
lenuejsqns ejiymueaw pue s)nses pjaIk o) Q9y pue Bulues Joy poued swy Buo] Auey e
seye) Ajfensn j| se ‘uni poys auy ul Ajjeloadse aAgoayaul aq pinoo sealjod apis-Aiddns Jeramon

‘unu Buoj ay) uj yiouep epe} jo souejeq ay; Buianpas
‘ile} ainjipuadxa yodw) pue asu pjnom anueaal Hodxe ‘sseusAnnedwoo paacidun uy Buginsal
abejueape aAnesedwos st dojoaap Jo ulebar 0) Awouose ety sdipy siyj ‘sesmies pue spoob jo
Aenb sy aacidw se jem se uoonpoid Jo 1500 sy seanpal siy} ‘Ajanonpoud aseasoul o} OBy
pue Buiuen sexsom abeinooue 0) swuy sesipisqns juswuleaob ayy ueyps spodxe sAnunod
ay) Jo eseyoind 8y} spiemo} sunjipuadxa ubiaio} yaims o} pue spoob paonpoid Ajjeoysswop
0} spodw) woly einjpuedxe yoyms o) sewijod epis-Alddns esn osje ueo juswweacb eyl

W8} eq
ued Jpaya sedhnw |jny oY) asojaq puodsal o} suuy pue spjoyasnoy 4o} swy Buol Algelapisuocd
B sa)e) {INS ) ‘uaaib s| feacudde ay) Jaye uaaz ‘aouelsisas Buods Josw o) Ajexy are (sleayjeay
‘uoneanpa “'6°e) ainjonysexyul feos uo Bulpusds up sino uenoiped u) pajuswsidwl 8q Ued
Aay) e10j0q Juswelped u pessed pue pejeqep eq 0) paau ainjipuadxs JuawisAob uj sjno 8ouls
Buo) Jeyjes eq pjnod Be| uonejusweldw) “sbe| ewy) o} enp joyep epel) Jo aouefeq oy Huonpail
uj @Apoayeul eaoud Jybiuw seanjipuadxe 8onpas 0y Aoyjod [easy AIBUOIIORIIUOD JO BSN 8Y) JOASMOH

“JIoysp eped) Jo edue|eq ay) buionpal
Aqgesey; spodwi uo puads 0} Alljiqe sAWOUCTe BY) 83NPe] WIN) Ul [IM AN Ul |8} 8yl ‘av Ul 18}
feniul 8y} Jo ajdpinw e Aq jje} im AN ‘Aleyewnin ‘spoued awg a|dyjnw J8A0 uopdwnsuod paonpuj
Butonpaa sny) ‘spjoyesnoy 1o} awoou; sse| speld yoiym ‘syndul Jojoe} sse| Buuy Aq uoponpoid
aseeso8p ||m suuy ‘(Qy) puewsp sjebai66e u) ey e 0) pes| M | ‘D ‘D Ut |18} ay) ‘AleAndedsel
sain)puadxa () Juswisaaui pue (D) uonduinsuoo abeinoosip 0} xey sjeiodiod Pue Xe) SOk
leuosJed uj aseesou] ue Jo/pue Buippng ainpnaselu) suodisod 68 ‘(9) einypuedxe s}l saonpsl
yuswuianob ay) eueym Aoiod |eosy Aeuoljoenuos ybnosyy s) ainyipuadxa aonpas 0) Aem suQ
dWO 10} 44 AJBUORSBRUGY “AdljOd Dupnpa-ain)ipuadx3 {1

‘saoljod Buiyoyms ainjipuadxe se yons seageuss)e Jeyjo Jsujebe yysusq
pue )00 ay) ai;edwod 0) pasdu [m em ‘ainsesw Aoyod )seq ay) st 1BY) Ji epoap o] ‘sepjjod
Buionpal-aunypuadxe juswejdiu; ueo JuaWWAAOE € ‘apes) Jo sauejeq ay) uo Joyep e Aq Jnoqe
W6nouq Aoy L1aa syuawAed Jo asueieq 3y) JO JUNOSIOE JUSLIND 8L} UO JIOYep B UNM |e8p Of

UGTORPOIN]

[s1] ‘Awouode ue jo syuswied jo sduejeq ay) JO JUNOIIE JUBLIND 8Y)} UO Ndep e Buidnpas
u; aunseaw Aoijod 3seq ey} eq o} Ajayi} S| seinjipuedxe ut uoljonpal e Jayjeym ssnasia (q)

More papers available at www.testpapersfree.com




BP~516

(b) Discuss the policy measures that the Singapore government should take to address

the economic consequences of these structural changes on her economy. [15]

Mark Scheme (a)

E1

Unsupported concluding statement about the appropriateness of each 1
policy.

Knowiedge, Application/ Understanding and Analysis

L3 | For an answer that uses appropriate analysis (e.g. AD-AS diagram) to link | 8-10
the structural changes to AD, SRAS and/ or LRAS. Explicit reference to be
made to =3 of the following:
- 1COP |SRAS 1GPL
- |SRAS/AD | actual growth + funemployment
- |LRAS | potential growth
- Worsening BOP position
L2 | For an answer that gives a descriptive explanation of economic 5-7
consequences arising from the structural changes.
L1 | Smattering of valid points 1-4
Mark Scheme (b)
Knowledge, Application/ Understanding and Analysis
L3 | Developed discussion of >2 policies adopted by the Sg govt to address the | 8-10
economic consequences of structural changes on the economy.
‘Developed’ — Able to explain + link each policy explicitly to how they
mitigate the adverse effects explained in (a). This should be followed by
limitations of the policy.
L2 | Undeveloped discussion OR developed explanation for 1 policy only. 5-7
‘Undeveloped’ ~ Descriptive rather than analytical, superficial link to context
and preamble.
L1 | Smattering of valid points 1-4
E3 | Evaluative appraisal of the policies of the relative effectiveness of the 4-5
policies in view of structural changes happening.
E2 | Some attempt at an evaluative appraisal of the relative effectiveness of the 2-3

policies in view of structural changes happening.

Part (a)

INTRO

Identify from the preamble the structural changes that exist domestically and worldwide:

(1) Ageing population

(2) Increased geopolitical risks

(3) Climate change

For each structural change, explain how they affect the key economic variables. There
should also be reference made to and AD-AS diagram to show economic analysis.

DEVT
1

]

Ageing population:
Explain how a rapidly ageing population, together with a fall in working age population can
affect equilibrium wage. Specifically, using the supply of and demand for labour diagram that
shows a fall in supply leading to a rise in the equilibrium wage.

Following from the rise in equilibrium wage, explain how this leads to a fall in aggregate
supply with a potential decline in real GDP and a rise in the GPL..

Besides cost push inflation, students can also link to how this makes Sg exports lose
competitiveness, which in tum affects Sg's BOT position.

(ii) Besides SRAS, this structural change may also affect aggregate demand if MNCs are

(iit)

deterred from entering Sg.

If so, the potential decline in foreign direct investment might lead to adverse impacton Sg's
financial account position.

Alternatively, there may also be a fall in investment should the MNCs be discouraged from
setting up plants in Sg. This fall in investment in turn causes a fall in aggregate demand.

Fall in aggregate demand leads to multiple fall in national income, coupled with raise in
unemployment.

Depending on the initial state of economy, the general price level may or may not fall.

Ageing population may be assaciated with falling productivity

Combined with shrinking resident !abour pool, this may lead to reduction in quantity and
quality of labour.

Consequently, long run aggregate supply may fali and affect potential economic growth.
Students should show this on the AD-AS diagram where there is a leftward shift of the long
run aggregate supply curve, resulting in a leftward shift of the full employment output Y.

21 iical ris}

Conflicts between countries have fueled existing inflationary pressures, leading to higher
production costs for firms when they import raw materials for production.

This in tumn fuels cost push inflation due to the fall in short run aggregate supply.

Students should link the above explanation to AD-AS diagram as well to show the rise in
general price level, coupled with a fall in income.

(3) Climate change

Climate change results in erratic weather conditions. In turn, this affects crop growth and will
reduce their supply across a range of agricultural products.
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- tax on imported gds

- implemented in mkts where domestic industry does
not possess comparative advantage/ is not as
competitive as imported substitutes

- obj: protect mkt share of dom prs since imported
substitutes will be relatively more expensive

Draw diagram

Frice,

@ |

R E Soum-en

Soeer

e Dasmare

: : : : Cuantly
w Q B 2 E3 A Good A

Figure 1: Eftecis of Impoet tarit on the mariet for good A

(e.g. student can analyse impact of tariff on mkt for

Chinese liquor)

with import tariff:

- 1P of imports from Pw to Pw+t

- |Q of imports from Q1Q2 to Q3Q4

=, limport expenditure  improvement in BOT (assume
export earnings unA)

The |import expenditure assumes that PED for
imports > 1 i.e. 1P ofimports MTP | Qty DD of
imports | import expenditure (& improvement in
BOT)

This may be true in the case of China’s liquor market,
since China also has a sizeable liquor industry. When
imported U.S. liquor becomes more expensive due to

Explain what it is

- Export subsidy has a more targeted impact on exports
- Govt provides export sector with favourable subsidies
to J|COP tcompetitive advantage over other foreign
exporters

(diagram not required)

E.g. Chinese govt subsidise cost of electrical machinery

1SS of Chinese electrical machinery | P of
electrical machinery (i.e. Chinese exporters granted
unfair advantage in selling electrical machinery in
foreign mks)

Where PED for electrical machinery is likely > 1, given
availability of substitutes in global mkt, | P of Chinese
electrical machinery MTP 1Qty DD for Chinese

electrical machinery 1 Chinese export earnings

Assuming China's import expenditure remains unA, t
export earnings leads to improvement in China’s BOT

tariff, local consumers in China are more willing and
able to switch to domestic suppliers

On the other hand, if a country is resource-poor like SG,
then many of the imported foods tack domestic
substitutes. In this case, PED for imports < 1. Thus,
imposition of tariff on such goods may instead increase
import expenditures, thereby worsening these
resource-poor ctry’s BOT

OR

Export earnings may not remain unA esp. if there are
spillover effects on other domestic industries

e.g. if U.S. automobile exporters are dependent on
China for its cheap steel, then the tariffs it imposes on
China's steel may backfire by raising production costs
for U.S. exporters. This then translates to higher prices
to end-consumers (both domestic and foreign
consumers). Should PED for U.S. automobile exports
be > 1, the 1P will lead to MTP | Qty DD for U.S.
automobile exports; reducing U.S. export earnings

Thus, whether U.S." BOT improves depends on
whether the | import expenditure > the | export
earnings

Ctries that have diversified their import sources, BOT is
still likely to improve given how exporters are better
able to switch to other cheaper foreign or domestic
suppliers
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v.s. export earnings

disproportionately high import expenditures

Mark Scheme (b)

Knowledge, Application/ Understanding and Analysis

L3 | Developed discussion of any 3 valid reasons for and against protectionism. 8-10

L2 | Undeveloped discussion OR developed explanation for either stand (i.e. for 5-7
or against protectionism only)

L1 | Smattering of valid points 1-4

E3 | Evaluative judgement of circumstances under which protectionism could be 4.5
justified.

E2 | Some attempt at an evaluative judgement. 2-3

E1 | Unsupported concluding statement. 1
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